

GENERALIZED HYERS–ULAM STABILITY OF A FUNCTIONAL EQUATION OF HOSSZÚ TYPE

B. Khosravi¹, M. B. Moghimi² and A. Najati³

¹Faculty of Sciences, Department of Mathematics and Applications
University of Mohaghegh Ardabili
Ardabili 56199-11367, Iran
e-mail: b.khosravi88@yahoo.com

²Faculty of Sciences, Department of Mathematics and Applications
University of Mohaghegh Ardabili
Ardabili 56199-11367, Iran
e-mail: mbfmoghimi@yahoo.com

³Faculty of Sciences, Department of Mathematics and Applications
University of Mohaghegh Ardabili
Ardabili 56199-11367, Iran
e-mail: a.nejati@yahoo.com

Abstract. The aim of the present paper is to give general solutions of the following functional equation of Hosszú type:

$$f(x - y + xy) + f(y) = f(x) + f(xy)$$

and its Pexiderized version

$$f(x - y + xy) + g(y) = h(x) + k(xy),$$

and prove the Hyers-Ulam stability of the above two functional equations in Banach spaces.

1. INTRODUCTION AND PRELIMINARIES

The stability problem of functional equations originated from a question of Ulam [12] concerning the stability of group homomorphisms. The functional

⁰Received June 1, 2017. Revised July 20, 2017.

⁰2010 Mathematics Subject Classification: 39B82, 39B22, 39B52.

⁰Keywords: Additive mapping, Hosszú's functional equation, Hyers-Ulam stability.

⁰Corresponding author: M.B. Moghimi(mbfmoghimi@yahoo.com).

equation

$$f(x + y) = f(x) + f(y)$$

is called the *Cauchy equation*. In particular, every solution of the Cauchy equation is said to be an *additive mapping*. Hyers [7] gave a first affirmative partial answer to the question of Ulam for Banach spaces. Hyers' theorem was generalized by Aoki [1] for additive mappings and by Rassias [9] for linear mappings by considering an unbounded Cauchy difference. A generalization of the Rassias theorem was obtained by Găvruta [5] by replacing the unbounded Cauchy difference by a general control function in the spirit of Rassias' approach.

The functional equation

$$f(x + y - xy) + f(xy) = f(x) + f(y) \quad (1.1)$$

was considered first by Hosszú who has solved it under a differentiability assumption. It has also been treated by many authors ([1, 2, 8, 10, 11]).

In this paper, we solve the following functional equation of Hosszú type

$$f(x - y + xy) + f(y) = f(x) + f(xy) \quad (1.2)$$

and its Pexiderized version

$$f(x - y + xy) + g(y) = h(x) + k(xy), \quad (1.3)$$

and prove the Hyers-Ulam stability of the functional equations (1.2) and (1.3) in Banach spaces.

2. GENERAL SOLUTIONS OF (1.2) AND (1.3) ON \mathbb{R}

In this section, \mathbb{X} denotes a linear space.

Theorem 2.1. *A mapping $f : \mathbb{R} \rightarrow \mathbb{X}$ satisfies (1.2) for all $x, y \in \mathbb{R}$ if and only if f has the form $f(x) = A(x) + b$, where $A : \mathbb{R} \rightarrow \mathbb{X}$ is additive and $b \in \mathbb{X}$ is a constant.*

Proof. Let $f : \mathbb{R} \rightarrow \mathbb{X}$ satisfy (1.2). Setting $y = 1$ and $y = -1$, respectively, in (1.2), we get

$$f(2x - 1) + f(1) = 2f(x) \quad (2.1)$$

and

$$f(x) + f(-x) = f(1) + f(-1). \quad (2.2)$$

Letting $x = 0$ in (2.1) and using (2.2), we get

$$f(x) + f(-x) = 2f(0), \quad (x \in \mathbb{R}). \quad (2.3)$$

Letting $x = 2$ and $x = -1$ in (2.1) and using (2.3), we get

$$f(3) + f(1) = 2f(2), \quad 3f(1) - f(3) = 2f(0), \quad (x \in \mathbb{R}).$$

Hence

$$f(2) + f(0) = 2f(1), \quad (x \in \mathbb{R}). \quad (2.4)$$

Replacing y by $-y$ in (1.2), we obtain

$$f(x + y - xy) + f(-y) = f(x) + f(-xy), \quad (x, y \in \mathbb{R}). \quad (2.5)$$

Adding (1.2) to (2.5) and using (2.2), we obtain

$$f(x + y - xy) + f(x - y + xy) = 2f(x), \quad (x, y \in \mathbb{R}). \quad (2.6)$$

Letting $y = \frac{x}{x-1}$ in (2.6), we have

$$f(0) + f(2x) = 2f(x), \quad (x \in \mathbb{R} \setminus \{1\}). \quad (2.7)$$

It follows from (2.4) that (2.7) holds for each $x \in \mathbb{R}$. By (2.6) and (2.7), we obtain that

$$f(x + y - xy) + f(x - y + xy) = f(2x) + f(0), \quad (x, y \in \mathbb{R}). \quad (2.8)$$

Let $u, v \in \mathbb{R}$ with $u + v \neq 2$. We can find $x, y \in \mathbb{R}$ such that $x + y - xy = u$ and $x - y + xy = v$. Hence (2.8) implies that

$$f(u) + f(v) = f(u + v) + f(0). \quad (2.9)$$

We prove that (2.9) holds when $u + v = 2$. For this, letting $x = 2$ in (1.2) and using (2.7), we get

$$f(2 + y) - f(y) = f(2) - f(0), \quad (y \in \mathbb{R}). \quad (2.10)$$

Replacing y by $-y$ in (2.10) and using (2.3), we obtain

$$f(2 - y) + f(y) = f(2) + f(0), \quad (y \in \mathbb{R}).$$

Hence (2.9) holds for all $u, v \in \mathbb{R}$ and this shows $f - f(0)$ is additive. The converse is obvious. This completes the proof. \square

Theorem 2.2. *Mappings $f, g, h, k : \mathbb{R} \rightarrow \mathbb{X}$ satisfy (1.3) for all $x, y \in \mathbb{R}$ if and only if they have the form $f(x) = A(x) + b_1, g(x) = A(x) + b_2, h(x) = A(x) + b_3, k(x) = A(x) + b_4$, where $A : \mathbb{R} \rightarrow \mathbb{X}$ is additive and $b_1, b_2, b_3, b_4 \in \mathbb{R}$ are constants with $b_1 + b_2 = b_3 + b_4$.*

Proof. Let $f, g, h, k : \mathbb{R} \rightarrow \mathbb{X}$ satisfy (1.3). Setting $x = 0, y = 0$ and $x = 1$, respectively, in (1.3), we get

$$f(-y) + g(y) = h(0) + k(0), \quad (2.11)$$

$$f(x) + g(0) = h(x) + k(0), \quad (2.12)$$

$$f(1) + g(y) = h(1) + k(y). \quad (2.13)$$

Using (2.11), (2.12), (2.13) and (1.3), we have

$$\begin{aligned} & f(x - y + xy) - f(-y) + h(0) + k(0) \\ &= f(x) + g(xy) + f(1) + g(0) - h(1) - k(0), \quad (x, y \in \mathbb{R}). \end{aligned} \quad (2.14)$$

Using (2.11) and (2.14), we get

$$\begin{aligned} f(x - y + xy) - f(-y) + h(1) + k(0) \\ = f(x) - f(-xy) + f(1) + g(0) \end{aligned} \quad (2.15)$$

for all $x, y \in \mathbb{R}$. It follows from (2.13) that $f(1) + g(0) = h(1) + k(0)$. Therefore, (2.15) implies that

$$f(x - y + xy) - f(-y) = f(x) - f(-xy), \quad (x, y \in \mathbb{R}). \quad (2.16)$$

Replacing y by $-y$ in (2.16), we have

$$f(x + y - xy) + f(xy) = f(x) + f(y), \quad (x, y \in \mathbb{R}), \quad (2.17)$$

which is the Hosszú's functional equation. Hence $f - f(0)$ is additive (see [2, 3]). Now using (2.11), (2.12) and (2.13), we also get the assertion for g, h and k . The converse is obvious. This completes the proof. \square

Theorem 2.3. *A mapping $f : \mathbb{R} \rightarrow \mathbb{X}$ satisfies (1.2) if and only if f satisfies (1.1).*

Proof. Let f satisfy (1.2). By Theorem 2.1 f has the form $f(x) = A(x) + b$ where $A : \mathbb{R} \rightarrow \mathbb{X}$ is additive and $b \in \mathbb{R}$ is a constant. Therefore f satisfies (1.1). If f satisfy (1.1), $f - f(0)$ is additive (see [2, 3]). So f satisfies (1.2). \square

Remark 2.4. Using the proofs of Theorems 2.1 and 2.2, the results of Theorems 2.1 and 2.2 can be extended to mappings $f, g, h, k : \mathbb{K} \rightarrow G$, where \mathbb{K} is a commutative field of characteristic different from 2, and G is an abelian group.

3. GENERALIZED HYERS-ULAM STABILITY

In this section, we examine generalized Hyers-Ulam stability of functional equations (1.2) and (1.3). Let \mathbb{X} be a Banach space.

Theorem 3.1. *Let $\varphi : \mathbb{R} \times \mathbb{R} \rightarrow [0, +\infty)$ be a function such that*

$$\begin{aligned} \sum_{n \in D_x} \frac{1}{2^n} \left[\varphi\left(2^n x, \frac{2^n y}{2^n x - 1}\right) + \varphi\left(2^n x, -\frac{2^n y}{2^n x - 1}\right) + \varphi\left(\frac{2^n y}{2^n x - 1}, -1\right) \right. \\ \left. + \varphi\left(\frac{4^n xy}{2^n x - 1}, -1\right) \right] < \infty, \end{aligned} \quad (3.1)$$

where $D_x := \{n \in \mathbb{N} \cup \{0\} : 2^n x \neq 1\}$. If a mapping $f : \mathbb{R} \rightarrow \mathbb{X}$ satisfies the inequality

$$\|f(x - y + xy) + f(y) - f(x) - f(xy)\| \leq \varphi(x, y) \quad (3.2)$$

for all $x, y \in \mathbb{R}$, then there exists a unique additive mapping $A : \mathbb{R} \rightarrow \mathbb{X}$ such that

$$\|f(x) - A(x) - f(0)\| \leq \begin{cases} \sum_{i=0}^{\infty} \frac{\psi(2^i x)}{2^{i+1}}, & \text{if } x \in \mathbb{R} \setminus \{\frac{1}{2^n} : n \in \mathbb{N} \cup \{0\}\}; \\ \sum_{\substack{i=0, \\ i \neq k}}^{\infty} \frac{\psi(2^i x)}{2^{i+1}} + \frac{\delta}{2^{k+1}}, & \text{if } 2^k x = 1, \end{cases} \quad (3.3)$$

where

$$\begin{aligned} \psi(x) &:= \varphi\left(x, \frac{x}{x-1}\right) + \varphi\left(x, -\frac{x}{x-1}\right) + \varphi\left(\frac{x}{x-1}, -1\right) + \varphi\left(\frac{x^2}{x-1}, -1\right), \\ \delta &:= \frac{1}{2} \left[\varphi(2, 1) + \varphi(0, 1) + \varphi(-1, 1) + \varphi(3, -1) + \varphi(1, -1) \right]. \end{aligned}$$

Proof. Setting $y = 1$ and $y = -1$, respectively, in (3.2), we get

$$\|f(2x-1) + f(1) - 2f(x)\| \leq \varphi(x, 1) \quad (3.4)$$

and

$$\|f(x) + f(-x) - f(1) - f(-1)\| \leq \varphi(x, -1). \quad (3.5)$$

Letting $x = 0$ in (3.4) and using (3.5), we get

$$\|f(x) + f(-x) - 2f(0)\| \leq \varphi(0, 1) + \varphi(x, -1), \quad (x \in \mathbb{R}). \quad (3.6)$$

Replacing y by $-y$ in (3.2), we obtain

$$\|f(x+y-xy) + f(-y) - f(x) - f(-xy)\| \leq \varphi(x, -y), \quad (x, y \in \mathbb{R}). \quad (3.7)$$

Adding (3.2) to (3.7) and using (3.5), we obtain

$$\|f(x+y-xy) + f(x-y+xy) - 2f(x)\| \leq \Phi(x, y), \quad (x, y \in \mathbb{R}), \quad (3.8)$$

where $\Phi(x, y) := \varphi(x, y) + \varphi(x, -y) + \varphi(y, -1) + \varphi(xy, -1)$. Letting $y = \frac{x}{x-1}$ in (3.8), we have

$$\|f(2x) - 2f(x) + f(0)\| \leq \psi(x), \quad (x \in \mathbb{R} \setminus \{1\}). \quad (3.9)$$

Letting $x = 2$ and $x = -1$ in (3.4) and using (3.5) with (3.6), we get

$$\begin{aligned} &\|f(2) - 2f(1) + f(0)\| \\ &\leq \frac{1}{2} \left[\varphi(2, 1) + \varphi(0, 1) + \varphi(-1, 1) + \varphi(3, -1) + \varphi(1, -1) \right]. \end{aligned} \quad (3.10)$$

Let $x \in \mathbb{R}$. There exists $N \in \mathbb{N}$ such that $2^n x \neq 1$ for all $n \geq N$. Replacing x by $2^n x$ in (3.9) and dividing by 2^{n+1} , we have

$$\left\| \frac{f(2^{n+1}x)}{2^{n+1}} - \frac{f(2^n x)}{2^n} + \frac{f(0)}{2^{n+1}} \right\| \leq \frac{\psi(2^n x)}{2^{n+1}}, \quad (n \geq N).$$

Therefore

$$\begin{aligned}
& \left\| \frac{f(2^{n+1}x)}{2^{n+1}} - \frac{f(2^m x)}{2^m} + \sum_{i=m}^n \frac{f(0)}{2^{i+1}} \right\| \\
&= \left\| \sum_{i=m}^n \left[\frac{f(2^{i+1}x)}{2^{i+1}} - \frac{f(2^i x)}{2^i} + \frac{f(0)}{2^{i+1}} \right] \right\| \\
&\leq \sum_{i=m}^n \frac{\psi(2^i x)}{2^{i+1}}, \quad (m, n \geq N).
\end{aligned} \tag{3.11}$$

This implies that the sequence $\{\frac{f(2^n x)}{2^n}\}$ is Cauchy. Let us define $A : \mathbb{R} \rightarrow \mathbb{X}$ by

$$A(x) := \lim_{n \rightarrow \infty} \frac{f(2^n x)}{2^n}, \quad (x \in \mathbb{R}).$$

If $x \in \mathbb{R} \setminus \{\frac{1}{2^n} : n \in \mathbb{N} \cup \{0\}\}$, then (3.11) holds for all $n \geq m \geq 0$. Letting $m = 0$ and allowing $n \rightarrow \infty$ in (3.11), we get (3.3). If $2^k x = 1$ for some $k \in \mathbb{N} \cup \{0\}$, then (3.9) implies

$$\begin{aligned}
\left\| \frac{f(2^k x)}{2^k} - f(x) + \sum_{i=0}^{k-1} \frac{f(0)}{2^{i+1}} \right\| &= \left\| \sum_{i=0}^{k-1} \left[\frac{f(2^{i+1}x)}{2^{i+1}} - \frac{f(2^i x)}{2^i} + \frac{f(0)}{2^{i+1}} \right] \right\| \\
&\leq \sum_{i=0}^{k-1} \frac{\psi(2^i x)}{2^{i+1}}, \\
\left\| \frac{f(2^{n+1}x)}{2^{n+1}} - \frac{f(2^{k+1}x)}{2^{k+1}} + \sum_{i=k+1}^n \frac{f(0)}{2^{i+1}} \right\| &\leq \sum_{i=k+1}^n \frac{\psi(2^i x)}{2^{i+1}}.
\end{aligned} \tag{3.12}$$

It follows from (3.10) that

$$\left\| \frac{f(2^{k+1}x)}{2^{k+1}} - \frac{f(2^k x)}{2^k} + \frac{f(0)}{2^{k+1}} \right\| \leq \frac{\delta}{2^{k+1}}, \tag{3.13}$$

where $\delta := \frac{1}{2}[\varphi(2, 1) + \varphi(0, 1) + \varphi(-1, 1) + \varphi(3, -1) + \varphi(1, -1)]$. Hence we have from (3.12) and (3.13),

$$\left\| \frac{f(2^{n+1}x)}{2^{n+1}} - f(x) + \sum_{i=0}^n \frac{f(0)}{2^{i+1}} \right\| \leq \sum_{i=0, i \neq k}^n \frac{\psi(2^i x)}{2^{i+1}} + \frac{\delta}{2^{k+1}}. \tag{3.14}$$

Allowing $n \rightarrow \infty$ in (3.14), we get (3.3). We now show that A is additive. Let $u, v \in \mathbb{R}$ with $u + v \neq 1$. We can find $x, y \in \mathbb{R}$ such that $x + y - xy = 2u$ and $x - y + xy = 2v$. Hence (3.8) implies that

$$\|f(2u) + f(2v) - 2f(u + v)\| \leq \Phi\left(u + v, \frac{u - v}{1 - u - v}\right). \tag{3.15}$$

Let $x, y \in \mathbb{R}$. There exists $N \in \mathbb{N}$ such that $2^n(x + y) \neq 1$ for all $n \geq N$. Hence (3.15) implies

$$\left\| \frac{f(2^{n+1}x)}{2^{n+1}} + \frac{f(2^{n+1}y)}{2^{n+1}} - \frac{f(2^n(x+y))}{2^n} \right\| \leq \frac{1}{2^{n+1}} \Phi\left(2^n x + 2^n y, \frac{2^n x - 2^n y}{1 - 2^n x - 2^n y}\right),$$

for all $n \geq N$. Allowing $n \rightarrow \infty$, we see that $A(x) + A(y) = A(x+y)$. Therefore A is additive. The uniqueness of A follows from (3.3). \square

Corollary 3.2. *Let δ be a fixed positive real number. If a mapping $f : \mathbb{R} \rightarrow \mathbb{X}$ satisfies the inequality*

$$\|f(x - y + xy) + f(y) - f(x) - f(xy)\| \leq \delta \tag{3.16}$$

for all $x, y \in \mathbb{R}$, then there exists a unique additive mapping $A : \mathbb{R} \rightarrow \mathbb{X}$ such that

$$\|f(x) - A(x) - f(0)\| \leq 4\delta, \quad x \in \mathbb{R}. \tag{3.17}$$

Proof. Setting $\varphi(x, y) = \delta$, It follows from (3.9) and (3.10) that

$$\|f(2x) - 2f(x) + f(0)\| \leq 4\delta, \quad (x \in \mathbb{R}). \tag{3.18}$$

Let $x \in \mathbb{R}$. Replacing x by $2^n x$ in (3.18) and dividing by 2^{n+1} , we have

$$\left\| \frac{f(2^{n+1}x)}{2^{n+1}} - \frac{f(2^n x)}{2^n} + \frac{f(0)}{2^{n+1}} \right\| \leq \frac{2\delta}{2^n}, \quad (n \in \mathbb{N} \cup \{0\}).$$

Therefore

$$\begin{aligned} & \left\| \frac{f(2^{n+1}x)}{2^{n+1}} - \frac{f(2^m x)}{2^m} + \sum_{i=m}^n \frac{f(0)}{2^{i+1}} \right\| \\ &= \left\| \sum_{i=m}^n \left[\frac{f(2^{i+1}x)}{2^{i+1}} - \frac{f(2^i x)}{2^i} + \frac{f(0)}{2^{i+1}} \right] \right\| \\ &\leq \sum_{i=m}^n \frac{2\delta}{2^i}, \quad (m, n \geq N). \end{aligned} \tag{3.19}$$

This implies that the sequence $\left\{ \frac{f(2^n x)}{2^n} \right\}$ is Cauchy. Let us define $A : \mathbb{R} \rightarrow \mathbb{X}$ by

$$A(x) := \lim_{n \rightarrow \infty} \frac{f(2^n x)}{2^n}, \quad (x \in \mathbb{R}).$$

Letting $m = 0$ and allowing $n \rightarrow \infty$ in (3.19), we get (3.17). The proof of additivity and uniqueness of A is similar to the proof in Theorem 3.1. \square

Theorem 3.3. *Let δ be a fixed positive real number. If mappings $f, g, h, k : \mathbb{R} \rightarrow \mathbb{X}$ satisfy*

$$\|f(x - y + xy) + g(y) - h(x) - k(xy)\| \leq \delta \tag{3.20}$$

for all $x, y \in \mathbb{R}$, then there exists a unique additive mapping $A : \mathbb{R} \rightarrow \mathbb{X}$ such that

$$\|f(x) - A(x) + A(1) - f(1)\| \leq 24\delta, \quad (3.21)$$

$$\|g(x) - A(x) - A(1) - g(-1)\| \leq 26\delta, \quad (3.22)$$

$$\|h(x) - A(x) + A(1) - h(1)\| \leq 26\delta, \quad (3.23)$$

$$\|k(x) - A(x) - A(1) - k(-1)\| \leq 28\delta \quad (3.24)$$

for all $x \in \mathbb{R}$.

Proof. Setting $x = 0, y = 0$ and $x = 1$, respectively, in (3.20), we get

$$\|f(-y) + g(y) - h(0) - k(0)\| \leq \delta, \quad (3.25)$$

$$\|f(x) - h(x) + g(0) - k(0)\| \leq \delta, \quad (3.26)$$

$$\|g(y) - k(y) + f(1) - h(1)\| \leq \delta. \quad (3.27)$$

Using (3.25), (3.26), (3.27) and (3.20), we have

$$\begin{aligned} & \|f(x - y + xy) - f(x) - f(-y) - g(xy) \\ & - f(1) - g(0) + h(0) + h(1) + 2k(0)\| \leq 4\delta, \quad (x, y \in \mathbb{R}). \end{aligned} \quad (3.28)$$

Using (3.25) and (3.28), we get

$$\begin{aligned} & \|f(x - y + xy) - f(x) - f(-y) + f(-xy) \\ & - f(1) - g(0) + h(1) + k(0)\| \leq 5\delta, \end{aligned} \quad (3.29)$$

for all $x, y \in \mathbb{R}$. It follows from (3.27) that

$$\|f(1) + g(0) - h(1) - k(0)\| \leq \delta.$$

Therefore (3.29) implies that

$$\|f(x - y + xy) - f(x) - f(-y) + f(-xy)\| \leq 6\delta, \quad (x, y \in \mathbb{R}). \quad (3.30)$$

Replacing y by $-y$ in (3.30), we have

$$\|f(x + y - xy) - f(x) - f(y) + f(xy)\| \leq 6\delta, \quad (x, y \in \mathbb{R}).$$

Hence by a result of [13] (see also [6, 8]), there exists a unique additive mapping $A : \mathbb{R} \rightarrow \mathbb{X}$ such that

$$\|f(x) - A(x) + A(1) - f(1)\| \leq 24\delta, \quad x \in \mathbb{R}. \quad (3.31)$$

Now using (3.25) and (3.31), we have

$$\|A(x) - g(x) + A(1) - f(1) + h(0) + k(0)\| \leq 25\delta, \quad x \in \mathbb{R}.$$

Using again (3.25) (by letting $y = -1$), we conclude (3.22).

Similarly, using (3.21), (3.22), (3.26) and (3.27), we obtain (3.23) and (3.24). This completes the proof. \square

Here we use the Gajda's example [4] to give the next result.

Example 3.4. Let $\phi : \mathbb{R} \rightarrow \mathbb{R}$ be defined by

$$\phi(x) := \begin{cases} x & \text{for } |x| < 1; \\ 1 & \text{for } x \geq 1; \\ -1 & \text{for } x \leq -1. \end{cases}$$

Consider the function $f : \mathbb{R} \rightarrow \mathbb{R}$ by the formula

$$f(x) := \sum_{n=0}^{\infty} 2^{-n} \phi(2^n x).$$

Then f is continuous and satisfies

$$|f(x - y + xy) + f(y) - f(x) - f(xy)| \leq 16(|x| + |y|) \quad (3.32)$$

for all $x, y \in \mathbb{R}$, and the range of $|f(x) - A(x)|/|x|$ for $x \neq 0$ is unbounded for each additive function $A : \mathbb{R} \rightarrow \mathbb{R}$.

Proof. It is clear that f is continuous and bounded by 2 on \mathbb{R} . If $|x| + |y| = 0$ or $|x| + |y| \geq \frac{1}{2}$, then

$$|f(x - y + xy) + f(y) - f(x) - f(xy)| \leq 8 \leq 16(|x| + |y|).$$

Now suppose that $0 < |x| + |y| < \frac{1}{2}$. Then there exists an integer $k \geq 1$ such that

$$\frac{1}{2^{k+1}} \leq |x| + |y| < \frac{1}{2^k}. \quad (3.33)$$

Therefore,

$$2^m |x - y + xy|, \quad 2^m |x|, \quad 2^m |y|, \quad 2^m |xy| < 1$$

for all $m = 0, 1, \dots, k - 1$. From the definition of f and (3.33), we have

$$\begin{aligned} & |f(x - y + xy) + f(y) - f(x) - f(xy)| \\ & \leq \sum_{n=k}^{\infty} 2^{-n} \left[|\phi(2^n(x - y + xy))| + |\phi(2^n y)| + |\phi(2^n x)| + |\phi(2^n xy)| \right] \\ & \leq \frac{8}{2^k} \leq 16(|x| + |y|). \end{aligned}$$

Thus f satisfies (3.32).

Let $A : \mathbb{R} \rightarrow \mathbb{R}$ be an additive function such that

$$|f(x) - A(x)| \leq \beta |x|$$

for all $x \in \mathbb{R}$, where $\beta > 0$ is a constant. Since A is additive, there exists a constant $c \in \mathbb{R}$ such that $A(x) = cx$ for all rational numbers x . So we have

$$|f(x)| \leq (\beta + |c|)|x| \quad (3.34)$$

for all rational numbers x . Let $m \in \mathbb{N}$ with $m > \beta + |c|$. If x is a rational number in $(0, 2^{1-m})$, then $2^n x \in (0, 1)$ for all $n = 0, 1, \dots, m-1$. So

$$f(x) \geq \sum_{n=0}^{m-1} 2^{-n} \phi(2^n x) = mx > (\beta + |c|x)$$

which contradicts (3.34). \square

REFERENCES

- [1] T. Aoki, *On the stability of the linear transformation in Banach spaces*, J. Math. Soc. Japan, **2** (1950), 64–66.
- [2] D. Blanusă, *The functional equation $f(x + y - xy) + f(xy) = f(x) + f(y)$* , Aequationes Math., **5** (1970), 63–67.
- [3] Z. Daróczy, *On the general solution of the functional equation $f(x + y - xy) + f(xy) = f(x) + f(y)$* , Aequationes Math., **6** (1971), 130–132.
- [4] Z. Gajda, *On stability of additive mappings*, Internat J. Math. Math. Sci., **14** (1991), 431–434.
- [5] P. Găvruta, *A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings*, J. Math. Anal. Appl., **184** (1994), 431–436.
- [6] P. Găvruta, *Hyers-Ulam stability of Hosszú's equation*, In Z. Daróczy and Z. Páles, editors, *Functional Equations and Inequalities* **518**, pp. 105–110, Kluwer Academic, Dordrecht, 2000.
- [7] D.H. Hyers, *On the stability of the linear functional equation*, Proc. Natl. Acad. Sci. U.S.A., **27** (1941), 222–224.
- [8] L. Losonczi, *On the stability of Hosszú's functional equation*, Results Math., **29** (1996), 305–310.
- [9] Th.M. Rassias, *On the stability of the linear mapping in Banach spaces*, Proc. Amer. Math. Soc., **72** (1978), 297–300.
- [10] H. Świątak, *Remarks on the functional equation $f(x + y - xy) + f(xy) = f(x) + f(y)$* , Aequationes Math., **1** (1968), 239–241.
- [11] H. Świątak, *On the functional equation $f(x + y - xy) + f(xy) = f(x) + f(y)$* , Mat. Vesnik, **5** (20) (1968), 177–182.
- [12] S.M. Ulam, *Problems in Modern Mathematics*, Chapter VI, Science ed. Wiley, New York, 1940.
- [13] P. Volkmann, *Zur Stabilität der Cauchyschen und der Hosszúschen Funktionalgleichung*, Seminar, **5** (1998), 1–5.